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Home work answer is option A(111) HOMEWORK ANS 1S 111
Value of x+y+z is ( 32+39+40=111)
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Basic Properties:
1. The sum of the angles of a triangle is always 180 degrees.

Ush TSt o U T AT gALT 180 TSl gielm &

2. The exterior angles of a triangle always add up to 360 degrees.

Ueh THST & aTg: IV T AT GHAT 360 TSl grelm &
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Basic Properties:

3.The sum of the lengths of any two sides of a triangle is greater
than the length of the third side.
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Basic Properties:

4. The difference between the lengths of any two sides of a triangle is
less than the length of the third side.

ferdlT T397T & ool Gl STGTI3MT hl olalS ol X Hed Iy
3ol O A g

5.The shortest side is always opposite the smallest interior angle.
Similarly, the longest side is always opposite the largest interior angle.
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Acute Angle Triangle/s3el 0T ﬁ'SiTrl'

" An acute triangle has all of its angles less than 90°.

U e ST & @l HoT 90 ° F wA g
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Acute Angle Triangle/s3eT 0T f?ai'\?l'

" An acute triangle has all of its angles less

than 90°.
Ueh =ge1 T38TeT & H HI0T 90 ° & FA

g &l
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Right Angle Triangle/ TH®IOT ﬁ-ﬂa

* |n aright triangle, one of the angles is equal to 90°
or right angle

AR T3TST H, HIUT H & Teh 90 ° AT
HDIUT & &Y T g
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Obtuse Angle Triangle/ 31T8Isr 0T ﬁ'ai'Gl'

* An obtuse triangle has any of its one angles more
than 90°.
Teh 31T HIoT ST HT Th HIOT 90 °F 3ifh

gil g
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(f ABC is a triangle in which £B>4C then which
one of the following is true?

Tfe ABC T 37T 8 oA zB>2caagaan &




In the diagram below of triangle PQR, S is a

point on PQ, PR=8, PS=3 and QR=15. Then the
length of SQ could be.

RearRaARNsTPar A, 5, PQT@@ETS T
U% faq §, PR=8,PS=3 3T QR=15 § AT sQ #T
oaTE QY HFT B

B S Q
(Not drawn to scale)




The sides of a triangle are in the ratio 4:5:6. The
triangle is-

U XIS Y HATC 4:5:6 & 79T A ¢ @
ke Sl

a) Acute angled
b) Right angled
c) Obtuse- angled

d) Either acute angled or right angled



The sides of a triangle are in the ratio 4:5:6. The
triangle is-

U XIS Y HATC 4:5:6 & 79T A ¢ @
ke Sl

a) Acute angled
b) Right angled
c) Obtuse- angled

d) Either acute angled or right angled
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If three altitudes of a triangle is in the ratio
3:4:5, then triangle is?

U BT aFal FIAqUCT 3458 AN BITE?

a) Acute angled
b) Right angled
c) Obtuse- angled

d) Equilateral triangle
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The sides of a scalene acute triangle are 14,22
and x. x is an integer and 22 is the largest side
of triangle, what will be the avg of minimum
and maximum value of x?

U 71 HIVT [ATAETE BT AT A 14, 22

AT x B qu\mﬁm%mﬁ:ﬁgsraﬁrm
q3Y (ST 22 §1 x & TFATH I AGH AT FT
Jitaa Far g |

a)l8
b)19
c)21
d)20.5



he 3 sides of an acute angled triangle are 15,17
- and x cm. if x is an integer then how many
such triangles are possible?

Tl et ot Frsfet i it 37T 15 Y, 17
AT T x AT 8 Iﬁxﬁ{“ﬁ?%m@
foreter TeysT Wora 21

a)l3
b)14
c)29
d)15



In an obtuse angled triangle, the length of side
- opposite to obtuse angle is K cm, (K € N) and
length of remaining two sides is 12 cm and 17

cm. How many such triangles are possible?

U T8 HI0T FA3[T # HTAF FI10T F AHA
Y o1 K Y § 5181 3R 317 & 3 12 |t
3R 17 A 3| forast Prsger wera B

a)7
b)8
c)9
d)10



